Chapter 22 

Answer this set of questions for Figure 1, 2, 3, and 4:

1. How much is output?

2.
How much is total profit?

3.
How much is the most efficient output?

1. What is the firm's price in the long run?
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Figure 1
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Figure 2
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Figure 3
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Figure 4

Convert Figure 5 from the short run to the long run by drawing a new Demand and Marginal Revenue curve in 5-A and a new industry supply curve in 5B.
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Figure 5

Convert Figure 6 from the short run to the long run by drawing a new Demand and marginal Revenue curve in 6-A and a new industry supply curve in 6B.
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Figure 6

